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The ®nzoIn rules, one who cuts any material for the purpose of using it to lie on
it, it cannot be less than three 2°rov by three o°m5v in order to become Xnv; if it
was cut for sitting on it, not less than a nov v MY to be nXMw 22pn, however
Tapn® it will be XML 92pn even if it is a R ¥s.
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The text reads 71 P 2°5van nwnan, as I explained in the first p=s.
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2 Seemingly Mmoo is merely citing a Xno0wn, which is (somehow) connected to our X»3. The MW*w of Axmw nbap for
2Wn is oY SY 1w, See previous PRI "7 'OMN.

3 See 1an72 "7 2,1 71910 MBOIN who writes, XN TAW 1w WORY W MR APARY KA WA9R anm 91 IPAR 100 T
927 W2 IR 172102 AN 5w Nwnn IR ]’P”?ﬂ?ﬁ w2 DOATIR? WA IR MR TV WD D°IRN ’¥¥1P5 SN 2RI RIN RN°INH2
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is some sort of protector for one’s fingers when doing certain tasks.

4 pyan refers to a quarter 2p, so one and a quarter 7°3p of flour requires 791 be taken from it. A 2p is four PM?; there
are six 0°¥°2 in a 2. A 7¥°1 is considered by many to be two ounces. A 2p would be 48 oz. (6x4x2=48) plus 12 = 60
oz. for 7n. This is about 3 and % pounds (60/16=3.75).

5 This cited mwn follows the view of >0 "1 who requires a bit more than nnp 0°va1 nwnn (which is the 1w of the
o°nom) to be 72m2 2n, for he maintains that after separating the 771 (the T¥) there should remain the 2w for 79n
which is nnp 0¥an nwnn.
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